

UP FOR GRABS 25-26

Wednesday 6:30 pm

Cardinal Lanes North

Lanes 1 - 24

USBC Certification:

Team Standings

Place	#	Team Name	Points Won	Points Lost	Pins + HDCP	Place	#	Team Name	Points Won	Points Lost	Pins + HDCP
1	12	N AND W EXPRESS	36	6	59864	13	22	Team 22	20	22	59699
2	19	NICE BALLS	32	10	60343	14	20	FAMILY GUYS	20	22	58849
3	15	4 HORSEMEN	31	11	58571	15	6	THE DUDES	19	23	60157
4	10	LETS CARRY	28	14	60561	16	23	LUCKY STRIKERS	19	23	59783
5	24	FOUR J ' S	26	16	60221	17	8	ROLLIN' IN THE DEEP	19	23	58974
6	11	BOWLING STONES	26	16	60051	18	21	BAD NEWS BOWLERS	18	24	60049
7	9	BOB'S PRO SHOP	25	17	60434	19	18	THE UECKERS	16	26	60203
8	3	TEAM 3	24	18	60467	20	5	WE'RE NOT ALL RIGHT	14	28	59898
9	2	INCREDIBOWLS	21	21	60273	21	16	THE DEFIBRILLATORS	13	29	59889
10	17	STARTED FROM THE	21	21	59979	22	4	4	12	30	59173
11	14	RYAN & CO,	21	21	59727	23	1	WE GOT BALLS	12	30	58872
12	7	DEM MOFOS	20	22	59865	24	13	BANDITS	9	33	59646

Review of Last Week's Bowling.....

Lanes	Team Name	HDCP -1-	HDCP -2-	HDCP -3-	HDCP Total	Last Wk WON	Team Name	HDCP -1-	HDCP -2-	HDCP -3-	HDCP Total	Last Wk WON
1-2	STARTED FROM THE	914	886	966	2766	5	<---> BOB'S PRO SHOP	966	862	829	2657	2
3-4	NICE BALLS	945	927	909	2781	2	<---> BOWLING STONES	907	982	914	2803	5
5-6	BAD NEWS BOWLERS	878	835	909	2622	5	<---> BANDITS	828	857	904	2589	2
7-8	LUCKY STRIKERS	856	856	865	2577	0	<---> 4 HORSEMEN	902	910	931	2743	7
9-10	LETS CARRY	832	958	1001	2791	5	<---> INCREDIBOWLS	976	904	883	2763	2
11-12	N AND W EXPRESS	900	1061	942	2903	7	<---> 4	845	873	915	2633	0
13-14	RYAN & CO,	819	946	976	2741	5	<---> THE DUDES	921	937	836	2694	2
15-16	THE DEFIBRILLATORS	879	849	974	2702	2	<---> ROLLIN' IN THE DEEP	917	966	956	2839	5
17-18	THE UECKERS	871	868	880	2619	5	<---> WE GOT BALLS	859	863	893	2615	2
19-20	FAMILY GUYS	840	819	795	2454	2	<---> TEAM 3	779	915	871	2565	5
21-22	Team 22	848	965	1072	2885	5	<---> WE'RE NOT ALL RIGH	873	871	966	2710	2
23-24	FOUR J ' S	863	888	873	2624	7	<---> DEM MOFOS	858	744	832	2434	0

Lane Assignments

	1-2	3-4	5-6	7-8	9-10	11-12	13-14	15-16	17-18	19-20	21-22	23-24
Wk23 02/25	23-13	21-15	19- 9	17-11	14- 8	16- 6	10- 4	12- 2	22- 7	24- 5	18- 3	20- 1
Wk24 03/04	Position Round											

Last Week's Top Scores

Team Scratch Game	Team Scratch Series	Team Handicap Game	Team Handicap Series
949 BOB'S PRO SHOP	2606 BOB'S PRO SHOP	1072 Team 22	2903 N AND W EXPRESS
923 LETS CARRY	2557 LETS CARRY	1061 N AND W EXPRESS	2885 Team 22
914 N AND W EXPRESS	2462 N AND W EXPRESS	1001 LETS CARRY	2839 ROLLIN' IN THE DE
882 WE'RE NOT ALL RIGHT	2458 WE'RE NOT ALL RIGHT	982 BOWLING STONES	2803 BOWLING STONES
868 RYAN & CO,	2434 BOWLING STONES	976 INCREDIBOWLS	2791 LETS CARRY
866 THE DEFIBRILLATORS	2430 STARTED FROM THE	976 RYAN & CO,	2781 NICE BALLS
Scratch Game	Scratch Series	Handicap Game	Handicap Series
300 MIKE MIRANDA	727 MIKE SLUSHER	325 MIKE MIRANDA	803 LUCAS NEAL
278 CHRIS MANNING	707 BEN CHESSON	324 MAX COLEMAN	783 KOS IAKOVIDIS
278 JACOB DUTTON	707 LUCAS NEAL	300 LUCAS NEAL	780 JUSTIN RIKER
275 MIKE SLUSHER	697 CHRIS MANNING	295 CHRIS MANNING	777 KEVIN CSENCISITS
268 LUCAS NEAL	697 JACOB DUTTON	290 RANDY EDWARDS	766 MIKE SLUSHER
267 MAX COLEMAN	693 KEVIN CSENCISITS	288 MIKE SLUSHER	758 SONNY JONES
			758 MAX COLEMAN

Season High Scores

Team Scratch Game	Team Scratch Series	Team Handicap Game	Team Handicap Series
1015 BOB'S PRO SHOP	2767 BOB'S PRO SHOP	1103 BOWLING STONES	3072 DEM MOFOS
1000 LETS CARRY	2721 TEAM 3	1093 DEM MOFOS	3058 BOWLING STONES
975 TEAM 3	2698 LETS CARRY	1085 TEAM 3	2997 TEAM 3
974 BOWLING STONES	2671 BOWLING STONES	1079 4	2993 FOUR J ' S

Season High Scores - Continued

<u>Scratch Game</u>	<u>Scratch Series</u>	<u>Handicap Game</u>	<u>Handicap Series</u>
300 MIKE MIRANDA	802 JACOB DUTTON	330 JUSTIN RIKER	863 ZACH BENTLEY
300 JIM WARNER	792 JOE DWERTMAN	326 ANDY JUNG	850 JOE CORONA
300 ERIC WHITE	787 JIM WARNER	325 MIKE MIRANDA	847 TYLER MATHEWS
300 JOHN LEARY	782 JAKE SATTERLIE	324 ZACH BENTLEY	842 NICKY BEECROFT
300 JAKE SATTERLIE		324 MAX COLEMAN	
300 JUSTIN RIKER			

Split 1 High Scores

<u>Team Scratch Game</u>	<u>Team Scratch Series</u>	<u>Team Handicap Game</u>	<u>Team Handicap Series</u>
1015 BOB'S PRO SHOP	2742 BOB'S PRO SHOP	1095 BOWLING STONES	3072 DEM MOFOS
975 TEAM 3	2721 TEAM 3	1093 DEM MOFOS	3008 BOWLING STONES
960 LETS CARRY	2664 DEM MOFOS	1085 TEAM 3	2997 TEAM 3
957 DEM MOFOS	2644 LETS CARRY	1067 BANDITS	2993 FOUR J ' S
<u>Scratch Game</u>	<u>Scratch Series</u>	<u>Handicap Game</u>	<u>Handicap Series</u>
300 JIM WARNER	787 JIM WARNER	326 ANDY JUNG	863 ZACH BENTLEY
300 JOHN LEARY	782 JAKE SATTERLIE	324 ZACH BENTLEY	818 D'MITRIC HAZEL
300 JAKE SATTERLIE	773 D C KNIGHT	312 JEREMIAH WARREN	811 JEFF BROWN
289 ZACH BENTLEY	758 ZACH BENTLEY	311 JEFF BROWN	800 D C KNIGHT

Split 2 High Scores

<u>Team Scratch Game</u>	<u>Team Scratch Series</u>	<u>Team Handicap Game</u>	<u>Team Handicap Series</u>
949 BOB'S PRO SHOP	2700 BOB'S PRO SHOP	993 BOWLING STONES	2909 DEM MOFOS
1000 LETS CARRY	2675 TEAM 3	992 DEM MOFOS	2879 BOWLING STONES
925 TEAM 3	2668 LETS CARRY	995 TEAM 3	2885 TEAM 3
875 DEM MOFOS	2486 DEM MOFOS	1079 4	2935 FOUR J ' S
<u>Scratch Game</u>	<u>Scratch Series</u>	<u>Handicap Game</u>	<u>Handicap Series</u>
300 JIM WARNER	782 JIM WARNER	330 JUSTIN RIKER	731 ZACH BENTLEY
300 ERIC WHITE	717 JAKE SATTERLIE	270 ANDY JUNG	847 TYLER MATHEWS
247 JOHN LEARY	748 D C KNIGHT	278 ZACH BENTLEY	831 SCOTT HIGHTOWER
277 JAKE SATTERLIE	773 JOE DWERTMAN	316 MAX COLEMAN	829 STEVEN ZURCHER
300 JUSTIN RIKER		316 PAUL MELFI	

Team Rosters

<u>Name</u>	<u>Pins</u>	<u>Gms</u>	<u>Avg</u>	<u>HDCP</u>	<u>Name</u>	<u>Pins</u>	<u>Gms</u>	<u>Avg</u>	<u>HDCP</u>
1 - WE GOT BALLS Lane 24 HDCP=233 Avg=659					2 - INCREDIBOWLS Lane 16 HDCP=113 Avg=793				
BILL ROWE	6557	45	145	76	DARNAY LEARD	12931	63	205	22
RYAN MECKLER	9180	63	145	76	FLAVIO FURTADO	7309	39	187	38
BILLY VAUGHN SR	12020	66	182	43	DEVIN BLAKLEY	10663	56	190	36
CECIL GURGAINIOUS	11273	60	187	38	CHAD WHEELER	10172	48	211	17
BILLY VAUGHN JR	0	0	bk205	22	BILL DEVINE	2329	15	155	67
3 - TEAM 3 Lane 22 HDCP=66 Avg=845					4 - 4 Lane 14 HDCP=200 Avg=696				
D C KNIGHT	13512	61	221	8	CAMERON CLARK	8870	51	173	51
JEFF BROWN	13733	66	208	19	REID FLOWE	9284	57	162	61
JIMMY DAVIS	12019	60	200	27	THOMAS HUMPHREY	10107	54	187	38
MIKE SLUSHER	13635	63	216	12	SHANE KRAFT	9747	56	174	50
RANDALL POTTER	0	0	bk218	10	6 - THE DUDES Lane 12 HDCP=125 Avg=779				
5 - WE'RE NOT ALL RIGHT Lane 20 HDCP=84 Avg=825					RICHARD FRANKEL	10537	57	184	41
MIKE MIRANDA	12791	63	203	24	DANNY BARNES	11701	63	185	40
JOSH WARNER	13956	66	211	17	BEN GEORGE	13390	66	202	25
JIM WARNER	14868	66	225	4	JOHN SCHOEPFER	13753	66	208	19
MIKE BLOCH	11767	63	186	39	BILL HERNON	1299	6	bk203	24
7 - DEM MOFOS Lane 18 HDCP=122 Avg=783					JAY JANZEN	0	0	bk190	36
MARKEL WILLIAMS	10536	57	184	41	8 - ROLLIN' IN THE DEEP Lane 10 HDCP=137 Avg=765				
KYLE MALKIN	9628	48	200	27	BRIAN JOHNSON	10397	57	182	43
D'MITRIC HAZEL	13068	66	198	28	KOS IAKOVIDIS	11722	66	177	47
BRANDON BALCHIN	10282	51	201	26	CODY HURST	11351	57	199	27
KYLE SHIRLEY	4259	24	177	47	JOHN LEARY	13690	66	207	20
KYLE G. MALKIN	1376	9	152	70					

Name	Pins	Gms	Avg HDCP	
9 - BOB'S PRO SHOP Lane 6 HDCP=45 Avg=868				
JOE DWERTMAN	13619	60	226	3
NICKY BEECROFT	11293	57	198	28
JAKE SATTERLIE	14074	63	223	6
LOUIS CARRAI	13290	60	221	8
CHASE WHISNANT	1169	6	190	36
BEN CHESSON	4124	18	229	0
11 - BOWLING STONES Lane 8 HDCP=122 Avg=782				
ERIC JOHNSTON	11722	63	186	39
SONNY JONES	12984	66	196	30
ZACH BENTLEY	12127	63	192	34
JOE MEREDITH	13352	64	208	19
13 - BANDITS Lane 2 HDCP=234 Avg=659				
AARON BELCHER	10977	66	166	57
MIKE LANKFORD	9465	63	150	72
SPENCER ROWND	7763	45	172	52
RUSS MILLER	11328	66	171	53
ERIC HODGES	1282	9	142	79
15 - 4 HORSEMEN Lane 4 HDCP=181 Avg=717				
JEREMIAH WARREN	8826	55	160	63
RANDY EDWARDS	10095	55	183	42
JASON MILLER	12020	61	197	29
TAYLOR ENGLISH	7093	40	177	47
17 - STARTED FROM THE Lane 7 HDCP=113 Avg=792				
ZACK HUDDLESTON	12519	63	198	28
BRADLEY CSENCISITS	9798	54	181	44
PAUL MELFI	13531	63	214	14
KEVIN CSENCISITS	11990	60	199	27
JOSH MELFI	1823	9	202	25
19 - NICE BALLS Lane 5 HDCP=184 Avg=714				
JOHNNY PULLEN	10219	60	170	54
JEREMY CREASON	8561	48	178	46
ERIC CABINGAS	9280	57	162	61
TYLER MATHEWS	12880	63	204	23
21 - BAD NEWS BOWLERS Lane 3 HDCP=211 Avg=684				
RYAN ORLANDO	9521	63	151	71
SEAN CONNOR	11176	61	183	42
GREG TROTТА	10984	54	203	24
DYLAN ORLANDO	1325	9	147	74
TANNER KANODO	457	3	152	70
ERIC WHITE	9200	42	219	9
23 - LUCKY STRIKERS Lane 1 HDCP=211 Avg=683				
BOBBY FAIRCLOTH SR	3767	24	156	66
MATT JOHNSON	9563	57	167	56
MARC MORRISON	8814	60	146	75
BRIAN HUGHES	12225	57	214	14
TERRY FAIRCLOTH	8225	42	195	31
ELIO BABE	2165	15	144	77

Name	Pins	Gms	Avg HDCP	
10 - LETS CARRY Lane 13 HDCP=78 Avg=831				
STEVEN WOODCOCK	10195	48	212	16
JORDAN RACCA	11706	60	195	31
BOBBY FAIRCLOTH	11738	57	205	22
TRENT RACKLEY	14464	66	219	9
GREG SPEARS	1067	6	bk182	43
JIM FITCH	3837	18	213	15
12 - N AND W EXPRESS Lane 15 HDCP=144 Avg=758				
MICHAEL WIGGINS	10956	63	173	51
LUCAS NEAL	12984	66	196	30
MARK NEAL	8941	45	198	28
JUSTIN WIGGINS	9763	51	191	35
NICK MYER	7176	33	217	11
14 - RYAN & CO, Lane 9 HDCP=140 Avg=763				
RYAN WIGGINS	12867	66	194	32
JOE STRANGE	6892	45	153	69
CHRIS MANNING	3868	18	214	14
RYAN STRANGE	13374	66	202	25
BRANDON DETHROW	7428	39	190	36
16 - THE DEFIBRILLATORS Lane 11 HDCP=96 Avg=811				
PETE O'BRIEN	1113	6	206	21
FRANK CARILLI	13611	66	206	21
TOM ALGER	12710	63	201	26
ROGER JAMES	10701	54	198	28
JUSTIN RIKER	12817	66	194	32
18 - THE UECKERS Lane 21 HDCP=84 Avg=825				
SANDY BUESO	12941	63	205	22
MIKE RYAN	13256	66	200	27
WALLY MUHARSKY	10521	48	219	9
BILL SHERIDAN	6036	30	201	26
AVERY BUESO	2939	15	195	31
RICHARD SKALSKI	5261	27	194	32
20 - FAMILY GUYS Lane 23 HDCP=207 Avg=688				
RYAN HIGHTOWER	8173	53	154	68
SCOTT HIGHTOWER	10212	57	179	45
STEVEN ZURCHER	12848	66	194	32
RYAN CLARK	8213	51	161	62
22 - Team 22 Lane 17 HDCP=240 Avg=651				
ADAM FOSTER	8738	60	145	76
MAX COLEMAN	10547	63	167	56
JOHNNY BROADWAY	11320	66	171	53
ANDY JUNG	10623	63	168	55
24 - FOUR J'S Lane 19 HDCP=120 Avg=784				
JOE MUNDA	11706	63	185	40
JOE CORONA	12431	66	188	37
JACOB DUTTON	12981	57	227	2
BRETT KEELER	9228	50	184	41

Temporary Substitutes Division 1: Enter Div Label

Division 1: Enter Div Label

Name	Avg HDCP	Pins	Gms	High Game	High Sers	HDCP Game	HDCP Sers	-1-	-2-	-3-	Total	HDCP Total
SHELDON ADAMS	bk194	32	1189	6	223	607					0	0
TAYLOR CLINKER	122	97	368	3	141	368					0	0
TODD ELLIS	193	33	581	3	243	581					0	0
JASON FITZGERALD	0	0	0	0	0	0					0	0
JARRON FROST	179	45	2156	12	215	573		i184	a169	a169	522	657
RICHARD GUY	bk196	30	592	3	221	592					0	0
JAYME HARRIS	180	45	4321	24	246	653	295	800			0	0
CHAD SEVERT	228	1	1403	6	268	718					0	0
MIKE TIFFANY	236	0	710	3	268	710					0	0

<u>Name</u>	<u>Avg HDCP</u>		<u>Pins</u>	<u>Gms</u>	<u>High</u>	<u>High</u>	<u>HDCP</u>	<u>HDCP</u>	<u>-1-</u>	<u>-2-</u>	<u>-3-</u>	<u>Total</u>	<u>HDCP</u>	<u>Total</u>
SHAROME WILLIAMS	195	31	1758	9	242	617						0		0